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Checking My Knowledge 
Read each statement carefully and consider if you think you are red, amber or green.
Red = I think I have no knowledge in this area 
Amber = I think I have some knowledge in this area
Green = I am confident in my knowledge in this area
	Knowledge and Skills
	
	
	

	I can state the difference between weather and climate
	
	
	

	I can explain how humans can contribute to climate change
	
	
	

	I can explain the natural causes of climate change
	
	
	

	I can identify why the greenhouse effect is important in climate change
	
	
	

	I can give an example of an extreme environment 
	
	
	

	I can describe the physical and human adaptations that take place in extreme environments
	
	
	

	I am able to define a megacity 
	
	
	

	I can describe key issues in areas of high population density
	
	
	

	I am able to describe push and pull factors for migration
	
	
	

	I know why tourism changes in the Bulter model
	
	
	

	I am able to explain positives and negatives of tourism 
	
	
	

	I know how a holiday destination can become sustainable
	
	
	

	I feel confident reading crime maps
	
	
	

	I know the reasons why crime rates are higher in cities
	
	
	

	I am able to describe the effects of crime on local communities 
	
	
	

	I can define a crime hotspot
	
	
	

	I can name the four types of erosion
	
	
	

	I can draw and label a coastal erosion formation
	
	
	

	I know the difference between hard and soft engineering
	
	
	

	I am able to explain why the Holderness coast needs protecting 
	
	
	

	I know how a spit is formed
	
	
	

	I can explain the difference between a constructive and destructive wave
	
	
	

	[bookmark: _GoBack]I can explain why cliffs collapse 
	
	
	

	I am able to use geology examples when describing the coast
	
	
	






Climate change
The climate across the world has changed naturally over thousands and millions of years. In the past, the UK has experienced both freezing ice ages and warm tropical climates.
Today however, because people have been burning fossil fuels to power homes, factories and vehicles, more carbon dioxide has entered the Earth’s atmosphere. Carbon dioxide acts like a greenhouse. It lets the sun’s rays through to heat up everything inside the atmosphere, but stops the heat from escaping. This is making our planet warm faster than it naturally would and is causing world climates to change.
[image: http://aidwatchers.com/wp/wp-content/uploads/2010/03/climate-change.jpg]Complete the below definitions.
Weather is:

Climate is: 








Add 4 labels onto the map below to show the effects of climate change on people and the environment (they could be positive or negative): One has been done for you.

[image: Image result for continents map]Drought from low rainfall in central Africa.






[image: ]Climate change is the result of natural and human factors and has a range of effects
Complete the below table to explain how these human causes lead to climate change.
	Congestion 
	



	Deforestation

	



	Population
	



	Industrialization
	







Natural causes of climate change
The changing orbit of the earth:
[image: Image result for changing orbit of the earth]Every 100,000 years the earth’s orbit moves further away from the sun. when it is at its ‘High Elliptical Orbit’ its furthest away from the sun and when it is at its ‘Low Elliptical Orbit’ it is closest to the sun (the closer to the sun it gets obviously the warmer it gets! 

The earths wobble:
[image: Image result for earths wobble]The earth is not a perfect sphere, for this reason it wobbles (it takes 26,000 years to complete a ‘wobble’). As the earth wobbles it can move further from the sun causing temperatures to drop. 

Volcanic eruptions: 
[image: Image result for volcanic eruption climate change]Large volcanic eruptions can eject dust and sulphur dioxide into the atmosphere. Because of the circulation of the atmosphere this cloud of dust can be carried around the globe cloaking it in a layer of ash that is capable of reflecting some solar radiation back into space. In 1815 a huge eruption in Tambora ejected enough ash that temperatures across Europe dropped, crops failed and thousands starved to death. 
Which do you think has the biggest impact on climate change, human or natural causes? Explain your answer.
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


The Greenhouse Effect
[image: Image result for greenhouse effect diagram]
























Use the statement numbers to complete the above diagram of the greenhouse effect. 

1. Warms the earth’s surface 
2. Incoming solar radiation from the sun
3. Atmosphere stores the carbon
4. Some radiation doesn’t reach the ground it is reflected by the earth and its atmosphere
5. Infrared radiation (heat) emitted from earth’s surface, some goes back into the atmosphere others are trapped by the greenhouse effect and reflected back to earth making us warmer 

Predicting Climate change using Computer models
A top climate scientist has called for more investment in climate computing to explain the UK’s recent topsy turvy weather.
Prof Tim Palmer from Oxford University said there were still too many unknowns in climate forecasting. Short-term weather forecasting is generally very accurate. And long-term trends in rising temperatures aren’t in doubt. But Prof Palmer says many puzzles remain unsolved: take the recent weird weather in the UK, with the wettest February on record followed by the sunniest Spring.

Meteorologists were astounded by this unprecedented weather somersault – and especially by the amazing amount that May sunshine exceeded the previous record. This year’s figure was 13% higher than the previous record – that’s like the winner of the 100 metres leaving opponents over 11 metres behind. Some place the blame on climate change, but the Met Office says, as yet, there’s no strong evidence for that.
Prof Palmer told BBC News: “It would be really valuable for us to have more knowledge of how climate change is affecting weather patterns like this. “Was climate change implicated in the recent weird weather? We don’t know.”
[image: Floods near The Boat Inn in Jackfield near Ironbridge]“It is very frustrating to see space get quite so much attention and funding when we can’t be sure what will happen to the climate on Earth.
“If only we could secure money for computer modelling that would be a big help.”

Write to the government a short letter to encourage them to improve funding for climate change mapping. 
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

How do we affect the climate?				
Collect an item from around the house. For example: food packaging, trainers, something made from paper. Select one of your items and list all the different materials that went in to making the product
___________________________________________________________________________________________________________________________________________________________________________________________________

Did you think about any of the following questions when you bought the product?
· How far the ingredients travelled to reach the shop? (Energy consumption through transport, including international travel)
· How much processing was involved (and so energy used)?

We are going to think about these questions now and record the journey of the product. Here is an example of the journey of a chocolate bar:
A cow for the milk (not forgetting the methane they produce), a truck taking the milk, a factory processing it, a truck taking the processed milk to another factory where the chocolate is produced. Then move onto the sugar (where is it grown?), then the foil (what type of metal? Where was it mined?) and paper used in the wrapper.

Write out the lifecycle from creation to your house for the item you have chosen. Then place a star next to everything you think contributes to greenhouse gas emissions. 


Extreme environments

An extreme environment has harsh and challenging conditions. Humans and other species need to adapt in order to survive in it. There are different extreme environments in the world.

Hot Deserts have a range of distinctive characteristics. Hot deserts experience temperatures that are at or above 45 degrees Celsius for long periods of time and can drop as low as 5 degrees Celsius at night. 

Annotate the two photographs below that show aspects of hot deserts. Include information on their climate, soils, plants and animals.

[image: Image result for hot deserts vegetation][image: Image result for hot deserts animals]

[image: Image result for hot deserts vegetation]How have plants and animals adapted to the physical conditions of these hot deserts? Give four examples in the table below: 

	Animal/Plant 
	Adaptation 
	How does it help it to survive?

	
	
	

	
	
	

	
	
	

	
	
	



Development of hot deserts creates opportunities and challenges
The Thar Desert, also known as the Great Indian Desert, is a large arid region in the north western part of the Indian subcontinent that covers an area of 200,000 km2 and forms a natural boundary between India and Pakistan. It is the world's 17th largest desert, and the world's 9th largest subtropical desert.

Colour the statements to show if they are either:
Challenges of living in a hot desert / how humans adapted to the desert.
	Overgrazing of kept animals on the land, causes grass to disappear and land to become barren.
	Over cultivation in areas of savannah grassland is the cause of severe soil erosion.

	Desert tribes use ancient navigation techniques to ensure they never stray too far away from a settlement and water. 
	People use camels to carry items for trading at nearby settlements in exchange for clothes, food etc.

	People have developed new technology to ensure they have a ready supply of water using wells and groundwater.
	Plants are ripped out of the land to provide food and a water source for people and animals. 



On the below picture add the names of the two megacities to the correct boxes.
[image: ]
Use the information in the table below. 						

	Megacity
	Latitude
	Longitude

	Lagos
	6 °N
	3 °E

	São Paulo
	24 °S
	46 °W



 




Which one of the following is the correct latitude and longitude for Jakarta?
Shade one circle only.
A 		21 °N 		  52 °E			
B 		30 °S 		157 °E
C		 6 °S 		106 °E
D 		33 °N		  75 °E
[image: Image result for push pull factors]Complete the below definitions
Migration (push and pull factors): 
Pull is when_______________
Push is when ______________









[image: Image result for megacity]
What is a megacity?

A megacity is  
_______________________________________

Name an example of megacity we have studied: 

_______________________________________




Sort the statements below into physical and human factors of population distribution
Many people prefer to live in temperate climates
Industries will move to area with government funding
Places with good transport links
People prefer to live on flat land
Cities with good services will be popular
Few people live in the Arctic
Conflict results in people moving away
Few people tend to live in areas with extreme climates
Few people live in the Rainforest












Few people tend to live in mountainous areas




Ares with plenty jobs are popular
Few people live in the Desert




Complete the mind map below to show the positives and negatives of living in a megacity for example Mumbai. 


 




Positives and Negatives 



Good access to jobs












Geography of crime
There are three levels of crime. 
Give an example for each:
· Local ___________________________________
· National _________________________________
· International Crime ________________________

[image: ]
The above picture shows where piracy is most likely to happen:
 
What type of crime is Piracy? Nation, International or Local?
____________________________________________________________

Why do you think piracy occurs in these areas?
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

[image: How safe is Liverpool? - Liverpool Crime Statistics]Have a look at these graphs showing crime in Liverpool and Merseyside. [image: A guide to Liverpool Riverside L3]



Using the graphs and maps on the previous page to help you answers the questions below. 

	Which types of crime occur most in Liverpool?

	


	What is the relationship between population age and crime rate in Liverpool?

	


 

	What areas of Liverpool have the highest and lowest crime rate?

	


	If you were to put a new police station in Liverpool, where would you put it and why?

	




The definition of crime is an offence punishable by law. Geography is important when studying crime because when a crime happens it always has a location, a time and a reason. 
Understanding the patterns behind this helps:
· to see where crimes are most likely to be committed
· to combat crime
· to design areas to be more crime-proof

A crime hotspot has a high amount of crime compared to other places nearby.
In August 2011, riots spread from London to other city centres of England because: 
· people were aware of what was happening through the media
· technology allowed quick communication between people
· fear of the law being enforced was reduced because of the scale of riots
· there were greater opportunities for theft in retail areas in cities

Below are some of the impacts of the riots: Colour code them into social, environmental and economic impacts.People may have to pay higher insurance premiums, eg for their home or car.
Areas may become more vandalised as a result of repeated crimes.


Shopkeepers and retailers may close down in areas of high crime.
The National Health Service has to pay to treat people who have suffered physically from crime.





The local council need to pay improve the safety of areas e.g.  adding street lighting or CCTV.



The prison service is stretched as it has to house people who are jailed because of crime.
People may be fearful about going out alone or in the dark.
House prices on a street may fall if it is known to be a crime area.

Tourism 

Tourists are people who travel away from their homes for pleasure. Tourism is one of the fastest growing industries in the world and it generates a lot of jobs. The money spent by tourists adds to the wealth of countries (economic growth). 

For many years Europe and the USA have had the most tourism but in recent years there has been a lot of tourism development in Asia and the Middle East.
In 2019, a total of 1.5 billion people travelled to another country as tourists. This has increased from just 25 million in 1950.

Where is the world do people go?
Using the map below label at least 10 different countries and suggest reasons why people would go on holiday to here. 
 
[image: ]

Tourism in Kenya

Kenya lies along the Equator on the east coast of Africa, next to the Indian Ocean. The capital city is Nairobi. It has a population of over 46 million people. It is a very diverse population with over 40 ethnic groups including the Kikuyu, Luo and Maasai. 
[image: A herd of elephants in grassland with Mount Kilimanjaro in the background.]Tourism in Kenya is vitally important to the economy. Low income countries (LICs) such as Kenya are keen to attract tourists to promote development. Kenya was one of the first LICs to develop its tourist industry. It is English speaking and this helped the launch of tourism. Over 1.3 million visitors travelled to Kenya in the peak year of 2011, spending £600 million.

List 5 attractions that Kenya has that will attract tourists to the country:
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________
· ________________________________________________________________

List 5 advantages and 5 disadvantages (be specific) of tourism in Kenya – how does it help to reduce the development gap, but why is it not entirely perfect?

	Advantages
	Disadvantages

	
	

	
	

	
	

	
	





Tourism in Antarctica
There has been a steady increase in the numbers of tourists to Antarctica over the last 20 years.
[image: ]

Most tourists come to the Antarctic Peninsula. The reasons for the increase in tourist numbers include:

· Tourism is a growing industry.
· Media has made people more aware of extreme environments.
· There are more flexible patterns of work.
· Air travel is more economically viable, and can be booked more conveniently over the internet.
· There has been a trend towards ecotourism or adventure tourism.
· People have more disposable income.
· The threat of climate change and environmental issues means some tourists want to go to locations before they change.
· As the ice retreats, more routes into Antarctica are opened up, allowing greater access for cruise ships. 

Whether tourism should be allowed is a big question. Here are some of the pros and cons of tourism in Antarctica:
Colour the statements to show if they are positive or negative 

The ecosystem is very fragile, and too many people will disrupt the delicate balance it has. It can take many years to recover, if at all.
There is the threat of pollution, eg oil spills from the cruise ships and other methods of transport. This happened in 2007.
Tourists learn about the marine biology and threats because of climate change - they may become ambassadors for the area.
The awareness of the unique environment is increased as people are able to visit it.
There are many guidelines in place, so the environmental impact can be minimised.

[image: Free Scales Of Justice Clipart, Download Free Clip Art, Free Clip ...]
No, because…
Yes, because…
Do you think tourism should be allowed in the Antarctic? Complete the scales below.

[image: Have 50 Years of Overcrowded Parks Taught Us Nothing? | Outside Online]Using the image complete 
[image: Differentiation | Mrs Humanities]the ideal analysis below.
Link – How could they make this area more sustainable?
[image: ]

[image: ]
Apply – Where could this occur in the UK? Why is this an issue?
[image: ]

[image: ]
Explain – Why could tourist visiting here be negative?
[image: ]

[image: ]
Describe – What do you think is happening to the land?
[image: ]

[image: ]
Identify – What can you see here?
[image: ]

[image: ]

Coasts

What causes a wave?
_____________________________________________________________________

What is the fetch?
_____________________________________________________________________

There are two types of waves: constructive and destructive. Destructive


[image: The effects of a low wave][image: The effects of a high wave]Constructive


Complete the below using: Builds/erodes
A constructive wave ___________ the beach.				
A destructive wave ____________ the beach. 

What happens when waves reach the coast? 
 As the water gets shallower, the seabed interrupts the circular motion of the water making the waves more elliptical. This causes the crest of the wave to rise up and eventually collapse onto the beach.  The water that rushes up the beach is called the swash and the water that flows back towards the sea is called the backwash. 
Despite the relatively wavy surface in the open sea, there is little horizontal movement of water. This only occurs when the waves break and surge up the beach as they approach the shore. 
[image: See the source image]

Complete the table below describing the four types of erosion found at the coast:
Add a drawing and an explanation for each use the picture to help you. 
[image: Geolync]









	Hydraulic action
	Abrasion

	Attrition
	Solution



[image: ]Add a picture for each definition of transportation to understand how sediment moves. 

	
Formation of Coastal Spits – Deposition

	[image: ]

	1) Swash moves up the beach at the angle of the prevailing wind.
2) Backwash moves down the beach at 90° to coastline, due to gravity. 
3) Zigzag movement (Longshore Drift) transports material along beach. 
4) Deposition causes beach to extend, until reaching a river estuary.
5) Change in prevailing wind direction forms a hook.
6) Sheltered area behind spit encourages deposition, salt marsh forms. 



Why do beaches form? Fill in the blanks 
 
Deposition is the dropping of ………………. . Deposition is when material being ………………. by the sea water is ………………. on the coast. ………………. are built up when the ………………. of deposition is greater than the amount of ……………….. The amount of material that is ………………. on an area of the coast is increased when:  
· There is a lot of erosion elsewhere on the coast, so there is a lot of material available  
· There is a lot of ………………. of material into the area.  
 
………………. energy waves (i.e. slow waves) carry material to the coast but they are not ………………. enough to take a lot of material away – this means there is a lot of ………………. and very little ……………….. .  
 
material   dropped   erosion   transportation
amount   deposition   strong   deposited
carried   erosion   coasts   low

[image: ] 

















[image: ]
Describe the impacts from mass movement.
1. Environmental:

2. Social:

3. Economic: 
[image: 15 Best Things to Do in Swanage (Dorset, England) - The Crazy Tourist]

Look at photograph  of Swanage Coast 
Draw a labelled sketch of one of the main coastal features in the box below. Label the following landforms on your sketch:
· Cave				
· Stack
· Wave-cut platform									











[image: ]
All types of coastal management can be placed into one of two categories: 
· Hard engineering - These options tend to be expensive, short-term options.  They may also have a high impact on the landscape or environment and be unsustainable.

· Soft engineering - These options are often less expensive than hard engineering options. They are usually more long-term and sustainable, with less impact on the environment.
Describe the differences between hard and soft engineering coastal management strategies. 
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 


[image: Sea Defences - Holland Residents Association]

Annotate the above photo with the types of sea defenses you can see.

What are the positive and negative impacts of the defenses on the area?

	Positive impacts
	Negative impacts

	
	

	
	

	
	

	
	





Coastal management case study: Holderness coastline

The Holderness coastline is located on the east coast of England. It is the fastest eroding coastline in Europe at an average of 1.8 metres a year because: 
1. Rock type - the cliffs are made from less-resistant boulder clay (made from sands and clays) which slumps when wet.
2. Naturally narrow beaches - these beaches give less protection to the coast as it doesn't reduce the power of the waves.
3. Man-made structures - groynes have been installed to stop long-shore drift. This narrows unprotected beaches elsewhere even more.
4. [image: ]Powerful waves - waves at Holderness travel long distances over the North Sea (so have a long fetch) which means they will increase in energy.

What groups of people might be in conflict over these defenses and why?

	Groups 
	Conflict 

	The village of Mapleton
	

	Boat tourism 
	

	Great Cowden a village that is not protected 
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Human causes of climate change

Task:

The human causes of climate change are the
ones we are most familiar with. As a
refresher, use the images below fo fell me
what the human causes are and how they lead
to climate change.
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Why do people move?

People immigrate because of push factors
or pull factors.
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each type of transportation.

Traction Saltation
Large patrticles like boulders are Pebble like particles are bounced
pushed along the sea bed by the along the sea bed by the force of the
force of the water. water.
Suspension Solution
Small particles like silt and clay are Soluble materials dissolve in the
carried along in the water. water and are carried along.
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Mass movement is a consequence of weathering which causes
rocks and/or loose material to shift down cliff slope.

It happens when the force of
aravity acting on a slope is
greater than the force
supporting it. It causes the
coastline to retreat, sometimes
rapidly i.e. Holderness coastline.

Mass movement is more likely
to happen when the material is
full of water, it acts as a
lubricant. There are a number
of types of mass movement;
sliding, slumping and rock falls.
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Types of mass movement: Sliding and slumping
Sliding (straight line) Slumping (rotation)

This is the generic term for the While a slide take a fairly straight
downhill movement of large amounts path down a cliff, a slump has a
of rock, soil and mud. Slides occur on concave slip plane so material is

cliffs previously weakened by rotated backwards into the cliff face
weathering. Heavy rain infiltrates the | as it slips as large pieces of rock are

soil and percolates down into the pulled downwards.
rock. The now heavier, saturated
mass falls away along a distinct slip Rotational slumping is common at
plane. clay cliffs, dry weather makes the
A rock slide is where large amount of | clay crack allowing water to get into
rock slides down a cliff along a it.

straight slip plane. Mud slides are
usually wet, rapid and tend to occur
where slopes are steep.
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READ ME: Types of coastal management

When engaging in coastal management, there's
four key approaches that can be taken:

Where existing coastal defences are
maintained but no new defences are set up.

Hold the
line

Example: Southport

New defences are built further out in the sea in
an afttempt to reduce the stress on current
defences and possibly extend the coastline
slightly.

line

Example: Kent
Move people out of danger zones and let
mother nature unleash take control.

line

Example: Happisburgh

Retreat the Advance the

The easy option, deal with the effects of
flooding and erosion as they come or just
ignore them. This is generally what happens in
areas where there's no people, and so nothing
of “value” (to the government) to protect.

Do nothing

Example: Areas of the Holderness coastline
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